Untitled.notebook November 05, 2015

L

Name Date Class
/ P

Lesson 4 Worlisheet 1
Using trig ratios to solve for a side in a right friangle

Solve for xin each triangle below. Use what you learned in lesson 3 to first identify the ratio, then

write the equation, and then solve the equation. Make sure your calculator is in degree mode.
Round your answers to 2 decimal places.
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Lesson 4 Worksheet 2
Using inverse trig ratios to solve for an angle in a right triangle

Part I: Use your calculator and inverse trig functions to find the angle for each ratio below to the
nearest tenth (round to 1 decimal place).

"y 2 ° Q= e
1.sin" .86 = ét? 2 5.cost.72= 43.7 9. tan"' .53 = 27.7
2.sin™ % = Jgi 6.cos' Vs = ___g,?—i’! 10. tan'2 = ﬂ?l

3. sin” .5:__5(_ : 7.cos' 3= ?'—3“5, 11. tan" 4.6 = z i‘?
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Part II: Solve for x in each triangle below. Use ¥hat you learned in lesson 3 to first identify the ratio,
then write the equation, and then solve the equation. Make sure your calculator is in degree mode.
Round your answets to the nearest tenth.
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Warm Up... Sod 4K oA
o%\ b) Find angle B given...sin B = 0.8051
320 ) Find angle C given... tan C =7
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Assignment Solutions...Front page

1. x=_80' Lxmidl  © 12.x= 70" A 5

s . O
B v . L
4.a= 80 b=_J0’ 13. x=_27 z;_@;

b= li-‘”: c=_ﬂ1’_"f 4. x=_f00" (D -'<=_3°_/.-'

Sx=Jf @"“!ﬁ‘, = ' AN<= I
i _ = J . 4
[

Back page
x= 5 (Dx=_35° g2 : =_f7_€ 16. x=_//0’
2.:-_6_0' B.xaﬂ y= 2 y= 0
3.x=175" y=_/30" 13a= 52° 17a= bS5
y=/J0S° o 75 PN b=_ 40
4. x=_b5° y=_35" c=_15" c=_75"

5.a=_§5° z=_15"° 14 a=_/ddO" 18 x=_00
B s o (-

ctﬂ V= 70’ c=_@_0' 20. x=___/15-#
@x=i 11. a=_£0 15 xme P2 B i
b=_50 a=_32°
c= (20 b=_2



Untitled.notebook November 05, 2015




Untitled.notebook November 05, 2015

@)




Untitled.notebook November 05, 2015

HOMEWORK...

- Puzzle Worksheet - Finding an Unknown Side with Trig.pdf

b

~ Puzzle Worksheet - Finding an Unknown Angle with Trig.pdf

b



Attachments

Q Puzzle Worksheet - Finding an Unknown Angle with Trig.pdf
Q Puzzle Worksheet - Finding an Unknown Side with Trig.pdf
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ey What Do They Call the Big Grass Field B8giis
on an Orbiting Satellite?

For the first eight exercises, find the length x. For the remaining exercises, find the length needed 1o solve Ihe problem. Round
each answer (o the nearest tenth. Cross oul each box thal conlains a correcl answer. When you finish, write the lellers from
the remaining boxes in Ihe spaces al the botlom of the page.
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X
48°

@ Al a poinl 20 melers ! e If a rocket llies 2° olf course for
flagpole, the angle of
elevation of the lop of
© - Ihe ilagpole is 48"
+ " How tall Is the
flagpole? ;

@ As il leans against a building,
a 9-meter ladder makes m
an angle of 55° with lhe &
ground. How far is the o

1000 miles, how far fiom Ihe
correct palh will the rockel be?
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- For he first eight exercises, find the length x. For the remainin

SRR What Do They Call the Big Grass Field B,
on an Orbiting Satellite?

each answer to the nearest tenth. Cross out each box thal con
the remaining boxes in the Spaces al Ihe boltom of the page.
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@ At a point 20 melers from a 9 Il a rockel flies 2° off course for @ As it leans against a building,

flagpole, the angle of 1000 miles, how far fiom the a 9-meler ladder makes

elevation of the top of y correct path will the rocket be? an angle ol £5° with the
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